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A glue called 'funori' is obtained from :

'WwCeormifl' eTenild Liem&F @H N BHE QUDMLILASH S :

A:

C:

Gloeopeltis furcata

&) 1GUITGIIVL (g eTV LT C&HL L IT

Ulva lactuca

QJ6V6UIT 6VITHL (F&SHbIT

Polysiphonia fastigiata

LITe6n&F CLimeor LT LiTervLg &) GuiL LT
Chondrus crispus

G&ITetTLq [T61V (&I lervLier)

Correct Alternative :- A

Match the following :

(a) Budding (i) Erysiphe

(b) Oidia (i) Saccharomyces
(c) Aethalia (i) Colletotrichum
(d) Conidia (iv)] Fuligo
QU5 &IS

(a) GQum_@GedG@sHev (i) cTiflemn&..GL

(b) S UWIgUITSHSENT (i) &&5GHmeOLL&FE

(c) g smedlwr (i) Q&ML GLIT lg6nI&H&LD

(d) Qamefligwevger (iv) ~LeoelGCsT

A:

(a)-(iii), (b)-(1), (c)-(iv), (d)-(ii)
(a)-(iii), (b)-(1), (c)-(iv), (d)-(ii)
(a)-(iii), (b)-(iv), (¢)-(1), (d)-(ii)
(a)-(iii), (b)-(iv), (¢)-(1), (d)-(ii)
(a)-(ii), (b)-(1), (¢)-(iv), (d)-(iii)
(a)-(i1), (b)-(1), (¢)-(iv), (d)-(iii)
(a)-(ii), (b)-(iv), (c)-(iii), (d)-(1)
(a)-(ii), (b)-(iv), (c)-(iii), (d)-(1)

Correct Alternative :- C

GET IT ON
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A lichen -'Letharia Vulpinus'is commonly called :

'QeV& S MTIFIWIT 66VLIN6OTENV* 6TEDILD 6016V 8T 60T GILIMSIEUTS HMIWLILI(HeUS! eTeleumy ?

A: Reindeer moss
feoTIC [T LOTeN
B: Wolf moss
2 6V&LI LOMTEN
C: Peat moss
LT Lomeny
D: Irish moss
garflelq omery

Correct Alternative :- B

In Lichen, Hamathecial element that originate above the asci and grow downwards are called :
6M6VE G 601160 96N &HENVGEHEHE G CLMLIGHI UL CameTm HLb CBITESH aU6TIHLD QMITITHEF U6
2 MILIL&ET @eUeumml HOPEHSILGSHMSI :
A: Paraphyses
LTI men L&y
B: Basidium
QU g UILD
C: Periphysoids
QulsemUGmUIL6N
D: Periphyses
QuUflsemLF e

Correct Alternative :- C

In Bergy's classification of Bacteria, the phylum 'Firmicutes' include :
Quiglullest Lms e flumnigserfler auends LML Lwedlev 'sLINFLII&H WL 6N 6Telld IDTHGS TGS LIL]
LNflellev @emeu CEs&a&LILIL (H6TeTs! :
A: High G+C Gram Positive Bacteria
T & G+C RTMD CHIeuend LMsLeflulmiger
B: Low G+C Gram Positive Bacteria
&b G+C ST GHTeUemS LIME L WIS 6T
C: High G+C Gram Negative Bacteria
9B & G+C KJMD TH Jeuemn s LIMEs el uimhig et
D: Low G+C Gram Negative Bacteria

&M G+C HRJTD TH FeUen s LIMELe [flulmbigs 6T
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Correct Alternative :- B

6 The out growths produced on the lower surface of the leaves infected by virus is called :
MEUTeN LIMTHHELILLL 8 6m6us6rTler HBLLmEHev 2 Heum@GLD Qeuer] aueTflaeT @ 6uelmm
SIMPSHHLILORMS :

A: Lesions
60)[H6Y LI L | 600T
B: Tumours
& LD60Y6V G 6T
C: Enations
@) C60T61q 60TE> 6T
D: Phyllody
SLIN6LG6LITIY
Correct Alternative :- C
7 'Pin-wheel type' intracellular inclusions are characteristic of :
'WPETFSH ST 6UMB' G &F 6060l I6T &IM6oorLILI(HILD 2 6TeTL & &LIQLIMH6T @) &H60r FIMLIL| LI6ooTLITGLD :
A: Fungal infection
LLEHENF Q1S MG 6
B: Viral infection
66U TEN Q& ITMMIG 6V
C: Mycoplasma infection
NG G LI6TTerVLDIT Q&M MG 6V
D: Bacterial infection
LM&Le flum&SeT Q& mmHmIg 60
Correct Alternative :- B
8 Rice Tungro virus is transmitted by :

QB6L SIBICTIT eM6UT6EN @) &H60TTeV HLSHLILIGSMS! :

A: Nephotettix virescens
QBSCUITGLL_19.856M) 606U [T T 60T6N
B: Toxoptera citricida

GLM&EGFTUQLTT FLIg e LT

C: Bemisia tabaci

QUK WT LUTH

D: Graminella nigrifrons
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S gmlQerevevT embBEs LI TedTery

Correct Alternative :- A

Which of the following viruses are also known as stylet - borne viruses ?

QE&EMR&SLILL (B eTaremaluley eTal shuem vl —auldl &LG5L1LGILD 606 Ten & erfleor
LOTMHIGUUTTGLD ?

A: Propagative viruses
LGIMUGSHL_ 9.6 60 6UT6NGH 6T
B: Circulative viruses
QFTGG6VL_LY 6 6D6UTEN 6T
C: Non persistent viruses
5160605 60T6MLO LI M M 60)6U [TEN &5 61T
D: Persistent viruses
[B160)6V U IT60T 606U [J6rV &5 6T

Correct Alternative :- C

10 The algal viruses were first identified by :

QLEVGIT 606U TNV 6T (LNGH6V (LNSEVTE &6voT(hLI19.& &6 :

A: Diamond and Mattern
60)L_LD6DOTL_ LOM MILD LOML_L_[J60T
B: Stanley pruisner
6rVL_meoTedl Ljemerveor i
C: Safferman and Morris
FrsUTGe6T nmoih Gomifleny
D: Hollings
QM Medl iy
Correct Alternative :- C

11 Gene for gene hypothesis for host - parasite interaction was proposed by :

LU — L (h evotevor] @ emL_Gul 2_6T6em Q&ML LI emeor aflemd @ Lh 36018 G e360T GaH ML LIML6mL
WTALMPHEHEUT :
A: Ainsworth
eTWI TR UITT S
B: Flor
&LGETmy
C: Horsfall
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QMITIFENVLIMTEV
D: De Bary
19 Guirf]

Correct Alternative :- B

12 Identify the incorrect statement :

SEUMITET QUSSR UGS &6voT(H LI &H&He]LD :

A: o - fever is a milk borne disease
o - STUESF6 Lmeveul ermLBILD GBIl
B: Brucellosis is a blood - disease
L|(h&F VBV ITH 6N @55 GBIl
C: 'Tofu'is a food borne disease
'GLITL' 2_6voTe eUlUITE: G5 MedTmIlDd GBITWITELD
D: Greening of meat surface is due to Leuconostoc
@emmER UileT GLMLMLD LIFemE UITE S8 @ 691U]dCSMHITEVLITE &ITJe0oTL0MELD

Correct Alternative :- C

13 Which of the following is a Soil fumigant ?
QE&EMTR&ESLILL(H6TITH 6V 6TE LD6T0T L|60& WL LY :

A: Phorate
GuMGyL
B: Aldicarb
L6V SITITL
C: Chloropicrin
&Cerm @y L& fledr
D: Carbofuran
SMTIEUTLIWL, T medT

Correct Alternative :- C

14 Living Araucariaceae members are distributed in :

aImwLd 9r68asflGwed smaurmaseT LFell @ @me @G @LLID :

A: Southern hemisphere

Q& 60T M T&HCHITETLD
B: Northern hemisphere

QUL & GHITETLD
C: North America
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QL QW&
Southern and Northern hemisphere

Q& 60T LDMMILD QL 6N T&HGCSHTEITLN

Correct Alternative :- A

Which of the following are deciduous gymnosperms ?

SBLhs s ev0r_eummieT eo L Wladluieu &lbGeTmenQUIFTLNG 6T 6Tem6l ?

A:

C

Larix and Taxodium

GUITII& 61V LDMDYLD [ ITE GFITIQUILD
Cycas and Larix

NF& 6NV LOMMYLD VTS 61V
Agathis and Podocarpus

Q& ITSB6IV 1DMMLD GLITGL TS ITITLIEIV

. Araucaria and Cycas

T @& [ NLIT LDMYLD 60IFF 6TV

orrect Alternative :- A

Match the following :

(a) Oleoresin (i) Agathis
(b) Copal (i) Abies
(c) Sandarac (iif)  Pinus
(d) Canada balsam (iv) Callitris
CUT(H 5SS

(a) epeOIGWITCIT&l6oT (i)

(b) Ga&muev (ii)
(c) &meTLOnS (iii)
(d) S6TEUTLIT LIMEL&LD (iv)
A (a)-(iii), (b)-(1), (¢)-(iv), (d)-(ii)

B:

C:

(a)-(iii), (b)-(1), (c)-(iv), (d)-(ii)
(a)-(iii), (b)-(ii), (¢)-(1), (d)-(iv)
(a)-(iii), (b)-(ii), (¢)-(1), (d)-(iv)
(a)-(1), (b)-(iii), (c)-(iv), (d)-(ii)
(a)-(1), (b)-(iii), (c)-(iv), (d)-(ii)

SBTHServ
3[8][53V)
60ILI6OTENY

H6060IL_flerv

GET IT ON
Google Play

Page 6 of 58


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2477

TEACHERS RECRUITMENT BOARD
Post Graduate Assistants 2018-2019
Subject — Botany
Question Paper — Tentative key
Date of Exam —27.09.2019 & Session - AN

D: (a)-(ii), (b)-(iv), (¢)-(iii), (d)-(1)
(a)-(i1), (b)-(iv), (¢)-(iii), (d)-(1)
Correct Alternative :- A

17
Match the following and choose the best answer :
Plant Special character
(a) Lagersiroemia (i) medicinal herb
(b) Lawsonia (i)  winged seeds
(c) Ammania (i) dye yielding leaves
(d) Atropa (iv) apetalous flowers
S&aauLaupenm Qurm s Hmpg ufHenevd CHIHASE :
STeUrLd FlmLUyL LevorL
(a) GevgreroGLmildhwm (i) D(H&FHUSH SHTEUTLD
(b) eomG&meoflum (i) HmGeoLIU edleng S el
() SwLomsoflwm (iii) &MWL H(HLD @emevser
(d) gLGgmum (iv)  SJ6L6e0IH6EMMM LOEVTSET
Az (a)-(ii), (b)-(iii), (¢)-(iv), (d)-(i)
(a)-(ii), (b)-(iii), (¢)-(iv), (d)-(i)
B: (a)-(iii), (b)-(ii), (¢)-(iv), (d)-(1)
(a)-(iii), (b)-(ii), (¢)-(iv), (d)-(i)
C: (a)-(iii), (b)-(ii), (¢)-(i), (d)-(iv)
(a)-(iii), (b)-(ii), (¢)-(1), (d)-(iv)
D: (a)-(ii), (b)-(iii), (¢)-(i), (d)-(iv)
(a)-(ii), (b)-(iii), (¢)-(1), (d)-(iv)
Correct Alternative :- A
e Match Column - | with Column - Il and choose the right
option :
(a) Daven Port (i) ABO Blood groups
b) Nilson - Ehle (i) Earength in maize

i) Skin colourin man

(
(c) Landsteiner
( iv) Kernel colour in wheat

d) Emmerson and East

(
(
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euflem& 1-wWLb, euflem& Il Wb CQum(m & &) Flwiment edlem L 6mLL

GBS (H 58!

(a)  GLeuer GumyL (i) ABO (I & eU6M S &6
(b)  HleL &6 - FF6L (i) Gemengdlewr &7 HeaTld
(c)  eLMETUTL6rVIe 6TTI) (iii)  Loevilgevilest GHmeL HIMLD

(d) eTOF6T LOMID FFervL (iv)  Camgenwiilew alleng 2 6nm HImLD

A (a)-(iii), (b)-(iv), (¢)-(1), (d)-(i)
(a)-(iii), (b)-(iv), (¢)-(1), (d)-(ii)
B: (a)-(iii), (b)-(1), (¢)-(iv), (d)-(i)
(a)-(iii), (b)-(1), (c)-(iv), (d)-(ii)
C: (a)-(iii), (b)-(1), (¢)-(i), (d)-(iv)
(a)-(iii), (b)-(1), (c)-(ii), (d)-(iv)
D: (a)-(ii), (b)-(iii), (c)-(iv), (d)-(1)
(a)-(i), (b)-(iii), (¢)-(iv), (d)-(1)

Correct Alternative :- A

19 If the 5' - 3' strand of DNA has the following sequence, 5’AAGGTTAGG3' identify the m-RNA sequence transcribed by it :
5-3' B FEHQ & Mevor. DNA @ emLpuiler auflend GCL0& Qa&MR&&LILL(h6Ters : SSAAGGTTAGG3
@960 mHa LTS QW B &8 LU LD m-RNA-UI6T auflenseml @)6oTLD 85 T60oTss:—

A: 5'AAGGUUAGG3'
S'AAGGUUAGG3'
B: 5S'UUCCAAUCC3
S'UUCCAAUCCS'
C: 3'AAGGUUAGG?S'
3'AAGGUUAGGS'
D: STTCCAATCC3'
S'TTCCAATCC3'

Correct Alternative :- A

20 Petites are formed as a result of Extra - nuclear Inheritance in Mitochondria by :

Blwgefluen Frymg uryufluim el GLm smevor L_iflwimeiley ml&Lpeugsmey G&meormin
QUL el (N&6T @)H6v G MedTmI R 60T M 60T :—

A: Neurospora

Blw,Crmenv@uUITm
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B: Saccharomyces
FSHEMTRIT eMmnFI6en

C: Paramoecium
LUTrGU& WLD

D: Limnaea
69 bGeoTwl T

Correct Alternative :- B

21 If the total amount of Adenine and Thymine nucleotides in the DNA of a cell amount to 60%, what will be the percentage of
cytosine ?

@([H ClF6L606L 2_6T6T DNA-6I6L 219 60760T60T LDMMILD 60 & ULl 6dT BlwsL& & eflGuimem L (h s6rfledT QLTSS
NS SLD 60% 3,5 @) (HIHSHTEV 60 FL_GL_T60)F 60T 160T |66 6TEOTEOTEUTE @) (H&GLD ?

A: 30%
30%
B: 20%
20%
C: 40%
40%
D: 60%
60%

Correct Alternative :- B

22 Copia Elements in Drosophila are examples of :

9 rmGFmsLNevmailey 2_6Tem CaHTLNWIT eLNeVSHBIGHET @FHME& TBHSHSHHETL(H&6T LGLD :

A: Operons
6 LI IT60T & 61T
B: Retroposons
FILGrm GUITEF MeoTs:6iT
C: Transposons
1Q. [ IT60T6NV G LI & T60T 85 6T
D: Cosmids
&menLAlL_6n
Correct Alternative :- B

23 The type of Histone protein is not an integral part of the nucleosome is :

PwseflCumGamd LGS UWilev &meorLILLTES @ 6L UT () andlenuGLIT6dT LTS 6U6ms :

A: H2A
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H2A
B: H2B
H2B
C: H3
H3
D: HI
H1

Correct Alternative :- D

The shoot apex was first recognised by :
5 600T(H Hlevfleml (L& 6V (LN&6516L &HevorLMIbSE 6T

A: Nageli in 1878
QB&H6S 1878 91D 3i,600T(hH
B: Hanstein in 1868
QM ITEOTENICEOT 1868 bLD 21,6007 (h)
C: Schmidt in 1924
AAL 1924 91D 31,600T(H
D: Wolffin 1759
GeUmeL& LI 1759 @D 24,6007 (h)

Correct Alternative :- D

Vessels are absent in !
@euMMI6L 6TH 6V QEUF V6T &ITevoTLILI(H6UTH 6Vem6L :

A: Equisetum
F&GSGSIFL 1D
B: Trochodendron
L G IT@& ITG)L_ 60T [T IT60T
C: Selaginella

GIFeVITES] GléoTeVeVIT
D: Gnetum

1bL 11D

Correct Alternative :- B

GET IT ON
Google Play
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Match the following :

(a) Cellulose (i)
(b) Chromosome i)
(c) Cytoplasm (i)
(d) Lignin (iv)
CIUT(BSH SIS :

(a) GFeLeIGeLmerL

(b) @CoMCLrGEmD

() emFLCGLMIeTT&LD
(d) edl&eufleor

A

(a)-(iv), (b)-(iii), (¢)-(i), (d)-(1)
(a)-(iv), (b)-(iii), (¢)-(i), (d)-(1)
(@)-(1), (b)-(iv), (¢)-(ii), (d)-(iii)
(@)-(1), (b)-(iv), (¢)-(ii), (d)-(iii)
(a)-(iv), (b)-(1), (¢)-(iii), (d)-(ii)
(a)-(iv), (b)-(1), (¢)-(iii), (d)-(ii)
(a)-(1), (b)-(iii), (c)-(iv), (d)-(ii)
(a)-(1), (b)-(ii), (c)-(iv), (d)-(ii)

Correct Alternative :- A

Safranin

Eosin

Carmine
Calcofluor white

(i) & .Luyeufleot
(i) @Cwm&eu

(iii)  &SMIeOLOETT

GET IT ON
Google Play

(iv) &meuGam-.LGeTmy sneuL

Ruminate endosperm is formed by the activity of seed coat in :

F&EGMIILLILLemeuserfley eT&ev emLilGeorL. & (H2erevor llensd 2 60m G1&F W69 6oTTeL 2 (HeUTHMSI.

A:

Oryza

QREIET

: Coccoloba

CamGHmmGeumuIm
Elytraria
ereOlL_pmrflwm
Passiflora

Um&SILIGermyT

Correct Alternative :- D
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Match the following :

(a) Perisperm [i) Myristica
(b) Caruncle [i) Piper
(c) Al [ii) Cyanasftrum

(d) Chalazosperm (iv]) Ricinus

CILIT(5,55/% :

(a)  GluflervCljth (i) ONflervig &I

(b)  &IRIE 6D (i) emLLIT

(c)  eifled (i)  6OEUWIBTrVL LD
(d)  FITeLTGCETerVGIITLO (iv)  Gly&lsorerv

Ar (a)-(1), (b)-(iii), (c)-(iv), (d)-(ii)
(a)-(1), (b)-(iii), (c)-(iv), (d)-(ii)
B: (a)-(iii), (b)-(i), (¢)-(iv), (d)-(1)
(a)-(iii), (b)-(ii), (¢)-(iv), (d)-(1)
C: (a)-(ib), (b)-(iv), (c)-(1), (d)-(iii)
(a)-(ii), (b)-(iv), (¢)-(1), (d)-(iii)
D: (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
(a)-(i1), (b)-(iii), (¢)-(iv), (d)-(1)

Correct Alternative :- C

Which of the statements is not true ?

(a) Osmotic pressure is measured in terms of atmosphere.

(b) Osmotic pressure is inversely proportional to the concentration of dissolved solutes in the solution.
(c) Osmotic pressure of solution is always higher than its pure solvent.

(d) Osmotic pressure does not increase by the addition of soluble solute in the solution.

@eummle Fflwbm saHmsemeT CHTHOS0H &5

(a) Feuay,(h LITeU6L (D& LD auerneoor LeusHeor eumuievns emall LGS mS!.

(b) Feuey,( LITAU6V (D& SHLD HemI&edlev 2 6TeT &enFeLMIH6Tl6r QFnlea s @ THTellH 555 60
OWHS QBSHGSLD.

(c) @ HMTFeI6T Feuey,( LITEU6U (DEHHLD (56T ST SenLliLener L HH&INMTSH @) (HeHGSLD.
(d) HTFN6L BT WL QUITIHLG&Hem6T CEFFLILSTL Feua(h LITaU6L A(WSHSLD 3H &ILILG6vemev.

A: (a) and (b) only

(a) LDMMILD (b) LDL_(HLD
B: (b) only

(b) LOL_BILD
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C: (b)and (c) only

(b) LDOMILD (c) LLGID
D: (b) and (d) only

(b) LDOMILD (d) LOL(HILD

Correct Alternative :- D

30 Rieske Centre is the other name for :
'Feru8s emLDUILD' @) 85607 LDMIQILIWI :

A: PS1
PS1
B: PS1I
PS1I
C: Cytochrome bs-f complex
MFLCLMGGIMLD be-f Tl NG QTGS
D: AT Pase
AT NGwev

Correct Alternative :- C

31 Smoke of burning plant material contain a hormone called :
erfluLd Smeuy QUMTIHL_G6rfledr Liendullev &mevor LB\ ey GLOmesT

A: Strigolactone
VL_emTB&IT 6LITEGL 60T
B: Brassinosteroids
LN gmerverdiGeotmervie () &6t
C: Zea xanthin
GF\WIT & medT S 60T
D: Karrikins
SMfG 60156

Correct Alternative :- D

32 The percentage of water that a saturated soil can hold against certain centrifugal force is referred as :
SO L emwwellevs@ ellemss @ eTH TS, QFflaLl L LUILIL L nevor LN1958 6m6lss @uisviln
Bler #5650 @ euauTm eP&ESLILGSR M.
A: Water holding capacity
By Yigliyg & meor
B: Field capacity
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Blevd S\ medr
Moisture equivalent
FILILG FLOM60TLD

Chresard
LD

Correct Alternative :- C

Homeostasis 1is :

Bl& T BlemeVLITSH 6V 6TETLIG :

A:

Disturbance of self regulatory system and natural control.
&l 6(LRMISTMMI LO6DOTL_ VLD LDMMILD @UIMEN&EE &L (hLILITL 19 60T &) 600 Wi, M
Tendency of biological system to remain unchanged.

o Wilfluwev LevorLeuld LDMMITLENHEGLD CLIMEH G

: Tendency of biological system to resist change.

2 WIflulev LDevoTL6uLD LDMMM &M 6TH F& G CLITEH S

: Disturbance of regulatory factors of ecosystem and its control.

@LDIB16M6V LD6DOTL_6V & LI 62(LDMISITMMI &ITFevol 18 6rfledr @ 6mL W, Ml @) &60T &L MM

Correct Alternative :- C

Which of the following is true about the Continental drift theory ?
&HeooTL &6 CaHTLUTMH GMHSH SLDE & 600U mieT Fiflwmerensd CHIHOHH &HE6LD :

A:

Continents of the earth were once large mass that broke into large sections and drifted apart.

LLLO U1 60T 856007 L_TBI& 6T 6T60T LI QIUITfU S1600TL_BI&HETTSH 2_6MLHSI HSHTHS QF60TM (LNHNS
Quiflw plevlILIFLILIMEGLD

During Paleozoic and much of the Mesozoic the present continents were grouped into Laurasia and Gondwana.

SMHBUTeN S U 8600TL_MIGH 6T, VITETFadIuwIm LM mILD G ITEvoTL_6UITEOTIT 6T60TM & (LDESHETMTSH
umelCwmemuils LMo QU6 LIGFTFTUINE &meumhigserflev & meoorLILIL L 60T,

: In the Jurassic the land masses fragmented and the fragments drifted apart.

STTH & SHTeVEH 60T CLIMSI BleVLILITLIL|S6T &1600TLhIS6TITEH 3|5 56007 L_HIS6T H&HTHS ellev & &
Q& 60T M 6OT.

All of these

GLOM&H600TL. 3|60)60THSILD

Correct Alternative :- D

The earthy odour of the soil after the rain is due to :
LD6LD G L1 LN6DT 6U(HLD LDGTOT 6MITE 60)60TE> & T60T &5TIT600T] 6TS5! ?
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A: Geosmin
o3l G merv Ll 6T
B: Alanine

3|6V 60)60T60T
C: Lectin

Q6V&L_19.60T
D: Quinine
& W, 60)60T60T

Correct Alternative :- A

36 Sheath blight of rice is caused by :
QBevedlerT 2 emm QeuliL Crmullemenrs G&HMMHMIcIE G LD &ITyeotl :

A: Rhizoctonia solani

60T CFITEH L CL IT6oTIUIIT GIFIT6V/T6T]
B: Drechslera oryzae

L [J1F @euiT sp6m T GF
C: Magnaporthe grisea

DTS 60T GLITT G GFleorT&FIGILI
D: Tilletia caries

19 svevadluir @& rlev

Correct Alternative :- A

37 Winged pollens occur in :

@euMmMIeL 6TH 6L AMGeML U LDSTHSD 2 6L UG ?

A: Cryptomeria

&G mGglwim
B: Cupressus

G LITFaV
C: Podocarpus

CLITCL T&EITTLIEV
D: Taxodium

L IT&GFTIQUILD

Correct Alternative :- C

38 Host specific toxin is :

@RLUNT FMTHS H&8 18l ?
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A: Victorin

& GLTifleor
B: Tabtoxin

L ITLILIT& &) 60T
C: Phaseotoxin

CUACWITL & T 60T

D: Coronatine
@& MG ITeoTL_Lq 60T

Correct Alternative :- A

Sterile flask shaped structures borne on primary branches of Sargassum are :
FIHTGEH L (LNSVBlen6v Bemermdserley Gamermild L6V (B & Hlem6l aUlg6l SeMLDLIL|SH6T @)6) 6l Tm)
Mlwtiu@LD :

A: Cnidoblasts

BIGLIT emmerv (b &6t

B: Gominoblasts
GameoflGLom Llemmeny(h &6t
C: Cystocarps
FlerCLMS M LIG6T
D: Cryptoblasts
S UL Lemmen(h &6t

Correct Alternative :- D

The vacuolar membrane is called :

Bleoor& LOLD 2_emmuiledr QLIWLT :

A: Symplast
Gl NemmervL

B: Tonoplast
GLmGeormLilemmeruL_

C: Apoplast
SLIGUTLIemmeruL

D: Phragmoplast
SUpms&ELm WlemmevL

Correct Alternative :- B

Which of the following have tetrasporic type of gametophyte development ?
LYl 6dTeu (U 60TeU M MIGT 6TH 6V QL L_FervBUM1& auend &ML CLmemnLL eueTF&FF smeorLILOQ&H ma ?
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A: Oenothera
@ CeoTTSBNTIT
B: Allium
il
C: Endymion
6T60TLQ LD/ T6DT
D: Penaea
GlLeor i

Correct Alternative :- D

Sapwood is also known as :

FrHm &L e U6 LDMQMTIH QUIW :

A: Alburnum
S|6VLIJ60TLD
B: Duramen
BT TGILO6OT
C: Compression wood
WHH W &L _emL
D: Tension wood
@)\ MIGHSLOITEOT HL_60L

Correct Alternative :- A

The cell wall of Bacteria is made up of :

LM Le flulmi g erfledr Q&F6LE6UIT ©)560TTEV B, 60TS :

A: Mannan - chitin
LD 60T 60T IT60T — 60)&F L_1q.60T
B: polygalacturosamine - galecton
LIMeICEHVE &G TFemLN6T — G&H6V& L LTedT
C: Chitssan - chitin
6008 L_GL_ITEFIT6OT — 60)&L_19.60T
D: N-acetylglucosamine - N-acetyl muramic acid
N-QFIL_ L6V &EHEHCHTFNLN6T - N - AT L_6mL_6v AW, Tmi& el

Correct Alternative :- D

Mycotoxin called 'Aflatoxin' is produced by :

GET IT ON
Google Play

‘9] & LIGEUITLMTE6EM60T’ 6T60TM LLEH6enF HESallemet 2 MLISH Q&FUIWLD L, 6hHem & WIS
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A: Pithomyces chartarum

LI& C& Imem o &Flerv FITjL LD
B: Penicillium expansum

CILIGOTTIFEUILILD 6T 6YVLIT6OTFLD
C: Aspergillus flavus

2,6NV6ILITE VvV 5 LIGaTeuery
D: Fusarium roseum

Sy @Fpliid Gm&luih

Correct Alternative :- C

Which of the following statement about Funaria is correct ?

L1uy Georplusm Lmn)l BL&HQSTH\&SLILL(BI6TET Famnley 678 &ifl 2

A: Antheridia and archegonia are formed on different branches on same gametophore

GET IT ON
Google Play

2 BH QW MM 9 TERC&HMef W GT &ML CLMTGUMHlev 2_6TeT QeuelGalm

Fenenserfley 2 [HeuTGR M
B: Rhizoids are unicellular

Gaurfl&6T MM GIFEVEVITEV 3L 60TS
C: Dioecious plants

e Wiladluien &meurymigser
D: Protonema absent

LIGTmGLmeofLDIT @) 6Vem6y

Correct Alternative :- A

Which of the following is not correct pair ?
G LD 55 600T L6 M MI6T 6TH &6UMITEOT &) 60)600T ?

A: Orthotropous ovule - Polygonaceae
ATHCHTLCITLIEN &6V — LIMeSGas mGeorerd
B: Anatropous ovule - Piperaceae
6T G @6V — emLILILIGTen)
C: Campylotropous ovule - Capparidaceae
SHLemn LG LBFmTLI6 @6V — SLUMKlGLe
D: Circinotropous ovule - Cactaceae
FIHICeTTLGIITL6N @6V — &meGCL e

Correct Alternative :- B

Which of the following are used as clearing agents in paraffin method ?
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(a) Xylene

(b) Chloroform
(c) Benzene
(d) Toluene

GET IT ON
Google Play

G LD & G600t LU M mIeT LIMTTLIeT (Wemnmuiley eTgl Q& 6rfleums & LD &ITreoot&Hemmss L6t LI(H G 6oTmeor :

(a) 60V & 60l 60T

(b) &CeTmEIM&LIMTILD
(c) QLIEOTE 60T

(d) GLmeviu9ledr

A: (a)and (b) only

() LOODILD (b) LD
B: (b) and (c) only

(b) LLMMILD (¢) LDL_(HILD
C: (c) and (d) only

(c) bmMILD (d) LDL_(HILD
D: All of these

GG GMILILIL L 9jeme6TS SN

Correct Alternative :- D

The type of endosperm present in Asphodelus is :

QLENVGLITQL6V6V6ENl6V 6TEITEIT 616D &>(IH 2EM600T &Moo LILIHIF M

A: Helobial endosperm

anyCeumLII6L 6T6v0T GLTENVGILITLD
B: Nuclear endosperm

Blw,&eflulmy eTeoor GLMeNQLITLD
C: Ruminate endosperm

erp Lol GeoT L 6T6v0T GL eV LI LD
D: Cellular endosperm

QFLSTEVITI 6T600T GL_ITENVGILITLD

Correct Alternative :- A

In calotropis, the inflorescence is called cymose because the flowers are arranged :

&HCMLBrmLilen (eT(H&G) SMaUTLD, LDEHE ] emE&FGLOITEIV 6T60T {eMLOEGHLILIL &ITT600TLN & 60T

LDGVIJEH6IT :

A: aeropetally

mleot] GHITE S 60D HS) (H& G LD
B: basipetally
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319 GBTHE MBS B ELD
C: cyclically
Il L aulq a6l 2i6mLlnfHH ([HE G LD
D: spinally
F([HET UL L allgellév 9600 HS) [H& LD

Correct Alternative :- B

50 Latex tubes are present in leaf of :

@ 6uMM6v 615 60T @) 6m6VE6TI6V VTS L6 1q W,LIL|S6T Simeoor LILGSMS! ?

A: Cedrus
GIFL [T61V
B: Gnetum
1bL 11D
C: Abies
67 Lilerv
D: Pinus
60)L/60T61V

Correct Alternative :- B

51 The phenomenon of double fertilization was first observed by :

@Il SH(HeMIH6V BlHLEFF e (NGH6eN6L SevorL MBS

A: Russell
JErV& 6V
B: Cass

&HIT6N

C: Jensen
@ &260TF 60T

D: Nawaschin
[5T6U TN &) 60T

Correct Alternative :- D

52 Branched, thin walled hair-like sclereids are called

P e6TsH 5, QLNEVEOIW Feaul Q& mevorL. GOl GLIMETM 6 &lerfem I (h &6 6Tel 6l MM
3|65 & L11L1(H 5 60T M 60T ?

A: Filiform sclereid

SUedlesUmFLhen & efen ()
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B: Brachysclereid

LNoms&men Klefeng@)
C: Trichosclereid

L_en 78 Gas merv &l eifen 7 (h)
D: Macrosclereid

L& Crmerv & efemn g

Correct Alternative :- C

53 Which of the following method is not used in maceration ?

LY edTeupeueTel N6V 6TIHS (LN6M QD656 & & 6w & & LILI6TLI(H & S161 5 6L6tI6V ?

A: Schultze's method
6064 (LNeMM

B: Feulgen method
&LIU|6LEZ60T (LD6DY M

C: Jeffrey's method
QU] wem

D: Harlow's method
M G6VITeN (N6 M

Correct Alternative :- B

54 Sigatoka leaf spot disease of Banana is caused by :

aImenLpUIeL ‘Gl&L CLMEH&T @emevllLeTerfl ChTulener gMHLMS SIS 6T ?

A: Guignardia bidewellii

&) & 60T T LQUIIT LI Gl66VeDrsV
B: Ceratocystis fimbriata

CFTL L T&FevL 19earv LISy L m
C: Mycosphaerella musicola

60105 C&% TV ELil6DevIT LA &% G TeviT

D: Taphrina deformans
L_ITLIF 60T IT 1 LIIT[FLO6DTEIV

Correct Alternative :- C

55 Which of these are dioecious bryophytes ?
@eaummlev era1 emL_WiladluenNengGuwimemuL_(h &6t ?

A: Polytrichum and Marchantia
LITEIIL 6007 1D \ DD MILD LOITIT& ITeoTexd T
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7 GET IT ON
Google Play

B: Marchantia and Funaria

LOTF& MevTe U DD MID L7uy Geor i lusm
C: Pogonatum and Funaria

GUIT@SIT [BITL L O \DDMILD L7U), GeoT 7L
D: Funaria and Polytrichum

LIuy Geor g \DHMID L/TedL 6T LD

Correct Alternative :- A

According to histogen theory, periblem forms

Ml e GLTeg60T @& ML LIML_1q60TLILY, Quu‘]@umm 6TSHEM 60T 2_(HEUME G LD ?

A: Epidermis
Lm&ETev

B: Pith
Ug

C: Cortex
Ljmevot]

D: Central cylinder
60)LOW 2 _([HheDd)elT

Correct Alternative :- C

Which of these monocots have secondary growth ?

@eummlev 6THS 62(H I &H M6V HMTOUTEHH 6V GHMIGE U6eTTEFF &mevor ILIRSH MS! ?

A: Yucca
WEH&BIT
B: Aloe

Q/C6VIT

C: Dracaena

19 [TIT&)6oTIT
D: All of these

GG GMILILIL L 9jeme0TS SN

Correct Alternative :- D

Consider the statements aboutRiccia.
(a) Monoecious only

(b) Thallus is differentiated into photosynthetic and storage regions.

(c) Both smooth and tuberculate rhizoids present.
(d) Sporophyte differentiate into foot, seta and capsule

& @ wmumm Q&THIESLILL L FaMMmIS6T :
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(a) GLomenfladlwieny L (LD

(b) @eflEGFF&Hm& IMMILD GFLALIL LGS 6160 Smeveny CaumiLiLIL (heTersl.
(c) QUWeUWLILITET LDMMILD Sblemev 2_emm Gaufl&6T SmeooT LILIGIS M.

(d) UMs LD, FLIT InMMILD STLSIULEL 6TeoT eruGLIMTETTemLIL GoumiliLIL (h6Ters.

A: (a)and (d) are correct
(a) DOID (d) F1f]
B: (b) and (d) are correct
(b) LLOHOILD (d) &1
C: (b) and ( ¢) are correct
(b) LOOWILD () &1l
D: (c)and (d) are correct
(c) OMILD (d) &ifl

Correct Alternative :- C

59 The specimen designated by the author as the nomenclatural type is called :

2R Flwrme QUW GBI elem&EsHES WTH LM LIWaTUGLD 260 SITeUT 61608 U TETSl @) 66l mmI
AMP&HSELILUQSH S ?

A: Topotype
GLmGUmemL LI

B: Paratype
GUImemLLI

C: Isotype
OCFMenLLI

D: Holotype
GammGeumemL_Ll

Correct Alternative :- D

60 Which of the following is a non-motile coenobial form ?
Q&ETH&HSLILLMRETMNH 6 BEHIMS Gnl L6006 6TS ?

A: Gonium
G revor LD
B: FEudorina
wGL rifleorr
C: Pandorina
LITedT L TifleoTIT
D: Pediastrum
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UShguimrervig 1o

Correct Alternative :- D

61 The mode of development of gametophyte in heterosporous pteridophyte is
QamL 19 CymerCLmren QL FICLmemLIL 196V STl GLmemuL GUQTUE@ (L6 WIT6OT S

A: Exoscopic

6T&HCFMeCH LIS
B: Endoscopic

6T600T GL MoV & TLI &
C: Exosporic

616 BFmerCUMIfl&
D: Endosporic

eTevor GLmervGuUmiflas

Correct Alternative :- D

62 Which of these is not a function of smooth Endoplasmic Reticulum ?

@eumMl6v 613! LI ([HS&I6U 60T 6TevoT GLITLI 6T meruLil & euemevuiledr Licooll 3j6vev ?

A: Protein synthesis
LS CFI&HMS
B: Lipid Metabolism
LI B &serflett eueTFFF ems LDMMHMLD
C: Glycogenolysis
R et6msH oI &3GeorTmemeverdleny
D: Drug Detoxification
LD[BHSIQUTIHET H&F& [H&H LD

Correct Alternative :- A

63 Which of these grows entirely submerged in water ?

@eaummlev ergl W HMlaLD Hiflev eLPLDE a6y & 6oT e ?

A: Riccia
J1&&Ewm

B: Riella
plwievevir

C: Porella
GLITG TeV6VIT

D: Frullania
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S LIIBEVC6VeDTILIT

Correct Alternative :- B

64 Fern, completely without lamina in leaves :

@ emeuEserflev @66V TeT (LLMMIVILD @)6V6VITSS GILIT6or

A: Marsilea
O F&ewIm
B: Regnellidium
G785 Gl6oTeVEILg LLILD
C: Pilularia
USewCevg s
D: Azolla
Q/C&FTeVIT

Correct Alternative :- C

65 Coenocytic mycelium is found in

6TH6L FCeuTTen&FL_19.8 emDF S WD &meoor ILQ & m Sl

A: Peziza
CILIEDFFIT
B:  Penicillium
ClLeoTIFIeSLD
C: Colletotrichum
GCI&B T GLITIQ 60278 LD
D: Albugo
Q/6UL|B&HIT

Correct Alternative :- D

66 Identify the correctly matched pair :
FHlWms QUGBS WI[HEGLD ©)60)600T6e0 U 85600T M5 :

A: Taxodiaceae - Agathis
LT&CHMBwe — &m&&lav
B: Cupressaceae - Sequoia
SGLUTCF — CIF&ECSHTW
C: Araucariaceae - Thuja
TG fICWerd — sy
D: Pinaceae - Cedrus
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enLIGeoTerd — GIFL [rerv

Correct Alternative :- D

Identify the correctly matched pair :
FlWMs QUGB W CRMgeml &HeooT(HLIG&H 8]0 :

A: Saprolegnia - Ascomycete

FTLUGTT Glev& 6o IWIm — 96 CEHMen NG L

B: Polyporus - Deuteromycete

LImeSGUImeny — 1q UL 1 BT men &L

C: Morchella - Basidiomycete

LDTIHR&5E06VT — QUEIGCW T FL

D: Phytophthora - Oomycete

UL GLITUGSHTIIT — 26memnnF L

Correct Alternative :- D

Deamination is caused by :

OIGBeoTT HHEHHH MG GMTIevoTOMS @ IHLILIG! :

A: Ethyl methane Sulphonate

6THH60 L8 G5 60T F6USCLITG60TL

B: Acridine Orange
215 1119.60T 4, 7€H 8
C: Nitrous acid

MBLTe dlevld

D: Hydroxylamine

ML JT8endlev 3|60)LD60T

Correct Alternative :- C

Match Column - | with Column - || and choose the right

answer
Column - | Column - |l
(a) Robert Holley (i) DNA Seguencing
(b) Jacob and Monad (i) Alanyl -RNA
(c) Khurana and Nuremberg [iiij DNA Replication
(d) Arthur Kornberg (iv) Cracking genetic code
(e) Fredrick Sanger (v) Operon model

GET IT ON
Google Play
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auflens | - WL MM euflend Il — Wb Cur@ S & Fililmer ellsnLsnul CHIHEIH(H 5.
| Il

(@)  grUTL emmedl (i) DNA euflenal L S H Fe60
(b) Cgsu wOMID Comsrm(h (ii) S|6VEMEUTEL T-RNA

(c) Gamymewrm LOHMID BFsoTClLTS (i)  DNA @Il lgLil

(d) S4TEHFT STIETILTS (iv) rysmCsss &evor(hlig Ll
(e) ~0QILfl& FMTRIST (v)  epUNT6I LOTEIF

Ar (a)-(ii), (b)-(v), (¢)-(iv), (d)-(iii), (e)-(1)
(a)-(ii), (b)-(v), (¢)-(iv), (d)-(iii), (e)-(1)
B: (a)-(ii), (b)-(v), (¢)-(1), (d)-(iii), (¢)-(iv)
(a)-(ii), (b)-(v), (¢)-(1), (d)-(iii), (e)-(iv)
C: (a)-(i), (b)-(v), (¢)-(iv), (d)-(1), (e)-(iii)
(a)-(i1), (b)-(v), (¢)-(iv), (d)-(1), (e)-(iii)
D: (a)-(v), (b)-(i1), (¢)-(iv), (d)-(), (e)-(iii)
(@)-(v), (b)-(ii), (¢)-(iv), (d)-(1), (e)-(iii)

Correct Alternative :- A

70 DNA polymerase - I was isolated by :
DNA LMeSQETen - I QpmHenw LNifl5Q5M\&5H6UT

A: Okazaki Zaki
RETEFTH
B: Fleming
SUNQ 6T my
C: Arthur Kornberg
AUTSHST SMFTTOLITE
D: Sturtevent
6NV JL_1Q.Gl6U600T L
Correct Alternative :- C

71
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Match the following :

(a) Tikka disease of
groundnut

(b) Powdery mildew of
cucurbits

(c) White rust of crucifersfiii)
(d) Brown root of potato (iv)

QUTHSHSIS :

(@)  BlevssLeneullle lg6&T GHTIL
(b) G&STUILGL & §meurmiserflsr

@CILIMlg. LI 65 & T6uuTLD

c) GW&--QUCT HTeurm& e

Cle6uT Hi(H
(d) 2 (HMENSHLRISEH L(PLL SI(PBL (iv)  FGCLICLOMSTITerY CIFMeVMsoTTENLITTLD

A: (a) - (1v), (b) -
(a) - (iv), (b) -
B: (a) - (iii), (b) -
(a) - (iii), (b) -
C: (a) - (iii), (b) -
(a) - (iii), (b) -
D: (a)- (iv), (b) -
(a) - (iv), (b) -

(1), (¢ ) ~(i), (d) - (iii)
(1), (¢ ) ~(ii), (d) - (iii)
(i), (¢) - (), (d) - (iv)
(i), (¢) - (©), (d) - (iv)
(i), (¢) - (iv), (d) - (D)
(i), (¢) - (iv), (d) - (D)
(ii1), (¢ ) - (1), (d) - (i1)
(ii1), (¢ ) - (1), (d) - (i1)

Correct Alternative :- B

Albyes candida

Erysiphe
cichoracearnum
Cercospora personata
Pseudomonas
solanaceanum

(i) Q6VLIGSHIT GC&600TI. L IT
i)  enflem&GL &CHmymENTILD

i)  GCIFHCHTerVGLUTIIT CUITEFC6OTL_ L IT

72 The best described floral formula of Michelia Champaca is :
60010&% CH VLT QFDLIS TG LDV &SHTHMS WsF AL efleurflliLg :

@ ? P10 A10
@ ? P10 A10

G1o

G1o
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@9 P,

@$ p,
®9 P,

Correct Alternative :- B

A

a

A1p

A1o

G

G

G(a)
G(w)

G1o

G1g

73 The correct sequence involved in the multiplication of Bacteriophage is :

LmTaLe flulms LImedledr QLIHEE06m L6060 2_6Term Fiflwimet euiflend 6rgi ?

A: Adsorption, synthesis , replication, penetration, maturation, release

RL 198 Q&TETEhSH6V, 2 MUSS QF IS0, @TLIGLILIEDLS6, 261(Hh ([HEUSH6V, (LNH TH6V,

QeuerflGwmmLD

B: Adsorption, replication, penetration, maturation, synthesis, release

RL 195 QS TETEHSH6V, @TL LY LILIML &6V, 2a(HHEYS6, (NHTSH6, 2 MHLISH CIFUISH6V,

QeuerflGwmmLD

C: Adsorption, penetration, synthesis, replication, maturation, release

RL 198 Q& TETEHSH6V, 2a1(H[(HEYS6V, 2 MLISH CF LISV, QTLIYLILINL &6V, NS TSH6V,

QeuerflGwmmLD

D: Adsorption, synthesis, penetration, replication, maturation, release

RL 195 Q&HTETEHSH6V, 2 MUSH QF IS, 261(H ([HEYSHEV, @ TLIGLILINLS6V, LPH FSH6V,

QeuerflGwmmLD

Correct Alternative :- C

GET IT ON
Google Play
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If a pure breeding grey seeded pea plant is crossed with a pure breeding white seeded one, in the F, generation 705 grey seeded
and 224 white seeded plants were obtained. What is the ratio of white and grey seeded plants ?

@@ FMTLDL6 BIM llemsd Q& MeooTL. ST LIL LMool STeursHemnsd LnMAMTIH QelsTemneT ellens

Q& MevoT L SITW LIL_LT6vol & SMeUTsHCHM(H) &HevLILNerd QFUIST F2 FH5HUl6 705 FTDLI6L ellens
Q&TEv0TL SMeU MG EFLD, 224 QleueTem 6T ellen s g &ITeU g EHLIN @& TedTmI S 60T M6oT. G 6U6T6m 6l
LOMMID FILDL6E BIM ellend Q& mevorL &Teumigerler ell& &L 6TedT6oT ?

A 1:
1:

2:

W W

1

Correct Alternative :- C

An algal family which lack sexual reproduction :
LIMeSeTIQLIHSH&HLD @ 6VeVTS L6VST GHIDLIS! 675 ?

A: Coleschaetaceae

CHMICWMTEHEFLCLA

B: Stigonemataceae

enemL C&meof 1oL _GL R

C: Laminanaceae

eumlleor GG

D: Caulerpaceae

FHTeujCLG

Correct Alternative :- B

Which of the following statement is correct for Vaucheria ?
aleFFflumemel QUTHSSUMT Q&TH&HSLILL M ETETH L 6THS eumsGH LD &Fiflulmers :

A: Tt belongs to Rhodophyceae

@5 CrmBLMHmUFMW FMHSS!

B: Sexual reproduction is Isogamous

LIMedeoT LIQLH& S0 G &mELmen (Lpemmuilev HemL QLImILD

C: Produce multiflagellate zoospores

LI6V S6n & WIlenLoU]em LU G&6rVBLMT&Hem6T 2_MLIGSS) 68 U 6ot meor
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D: Produce auxospores
LS5 CFMEVGLIMTITE6M6T 2_(IH6U T8 & 5 60T M 60T
Correct Alternative :- C
77 According to Bentham and Hooker's system of classification :

Statement (I) : Polypetalae, Gamopetalae and Monochlamydeae are the 3 classes of seed plants.
Statement (I) : The Gymnosperms are not subdivided into subclasses or series, but include only 3 Natural orders.

QUBSLD LDMHMILD AT C&HET 6UeME LML IQ60TLILG eUTESIWILD

(D : UM Gov, GEHBLMALL TG MM ComBermHefIICL o &H wemel allenss
SMeUIHISETI6 3 U@ LIL&G6TTEGLD. eUmsSH LD

(11) : B CETMENVQLIFTLNG6IT, S160600T 6U(&GLILIS6T 3j6V6v S auflendF g6t eteor LINflE&LILILTIN6, 3
QUINN&ESH SIMMSEHETTS Gl&T600T ST 36MNE&EHLILIL(H6TTS.

A: Both the statements are correct
GLM&600TL @) T6vor(h 6UMTEH WK EHLD &flulmeTemel
B: Statement (I) only is correct
TS WL (I) L HGW Fiflwmers!
C: Statement (II) only is correct
aUM&S WL (II) L GG Fiflulmers
D: Both the statements are false
@) 76001 () 6UITE G WLITHIS @HLD &6UMITETem 6l

Correct Alternative :- C

78 The fungal partner in 98% of lichen thallus belongs to :
M6V G 60T 2 L6056 H6v 2_6T6T 98% LL6hem & 2 Wl @eua@GLienl FTiHSH S :

A: Ascomycetes
SLNVGSH TN F L 6N
B: Basidiomycetes

QUEIQBGWIMemn DG L6V
C: Deuteromycetes
1Q ULl 19 BT memnLDG L6
D: Chytridiomycetes
&L 19 I GWmemn &L _6rv

Correct Alternative :- A

79 In Euphorbia, the inflorescence is a cyathium which in its middle has :

weUMTIWT GO WUSH 60T I0Eh&F FIWImeoT &FWIMESS UILDTETS! 3|8 60T 60LDUISH 6V :

A: asingle female flower with tricarpellary gynoecium

eLNETMI (&606M6VEF G6VELD Q&ITE00TL 62(IH QLIEDOT LDEVEM T LI QLM M (HEGLD.
Page 31 of 58


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2477

TEACHERS RECRUITMENT BOARD
Post Graduate Assistants 2018-2019
Subject — Botany
Question Paper — Tentative key
Date of Exam —27.09.2019 & Session - AN

B: asingle female flower with bicarpellary gynoecium
@ T6ooT(h) G 696MEVF G6V&H LD GG 60T L 62(H GLIEOOT LDEVEM T LI QLM M (HE G LD
C: asingle male flower
6(IH 34,6007 LD6VEM LI QLM (HE G LD
D: anumber of male flowers each represented by a single stamen
@RCIQWITIH LD&HTHSHS STETTEV 24,607 6T600T600TMM 246007 LDVTSHEMETLI QUMM (H& LD

Correct Alternative :- A

80 Select the wrongly matched pair :
SUMTEH CFIHHLILIL(H6TT @ emetrenl CHTHOSH(H&HSHALD :

A: Bacillus stearothermophilus-dairy Industry
LITE6V6VEY 61VIC GITIT G1& [T GLOTEMLIGVEINV — LIIT6V LI600T60)600T Gl & ITLOI6VS LD
B: Bacillus licheniformis-Detergent Industry
LIT&eV6Vary 6mev& & eorlLimiidley— CFTLILIS 6)&TiblevssLD
C: Bacillus amyloliquifaciens- Pharmaceutical Industry
LIT&FI6VeVaIV 1A G6VTed % e1i1-LITG) LI60TaIV LDIBS SIS G1& TSIV LD
D: Bacillus coagulans- Starch Industry
LITGI6V6VEY G ITILITE V6OTENV- VL [TTEF GI& MOV LD

Correct Alternative :- C

81 Pedigree Selection is the other name for :

allbFmeauef] G556y eTedT LIS @& 60T Couml QLI :

A: Pure line Selection
s s G e

B: Mass Selection
RLOEWLISs5S G556

C: Clonal Selection
&GarmeoTev GH 6

D: Natural Selection
QubHmsS CsTe)

Correct Alternative :- A

82 The procedure which gives a precise method of calculating geologic time is based on :

Q&mLUIW6eL BMeVSMS L& S6VeNUILDTES &6ooTs S (hLD (LN MM U 1 LML UITEHE
Q& TEOOTL Gl :

A: Carbon dating
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ST LG0T 8600185 (h)
B: Uranium dating

W GreoflwiLD 860018 ()
C: Sedimentary rock thickness

LILG6ULILITemn M &1q L060T
D: Fossil type

QsmLauy euen s

Correct Alternative :- B

83 Microfossils are those which require a compound microscope for their study. They include :
H1600T Q& TLEVUN T 6T 6T60TLIED6U S L_(b), IHl600T G600T TE 60 WLIE Q& T600T(H 34T MU L1LI(H LI6M6U U MG LD.
@LUIQUITIHETSHEM6T 2_6TeTL &5 W 6me6 :

A: leaves and seeds

@)6M6eVG6T LDMMILD N6 & &H6T I, & LD.
B: leaves and woods

@) 6M6LE6IT LDMMILD HL_ ML &H6IT LG LD.
C: seeds and fruits

e & & 6T LDMMILD 5560115 6T Q@G LD.
D: pollen and spores

D&STHSLD LDMMILD VCLMT&HET L& LD.

Correct Alternative :- D

84 G.H. Shull (1914) used the term :
&3] 6eTd. 6196V (1914) @ FQFTELEM6VL LIWIGT LM SH60TITH :

A: Heterosis
QamL 19.CTm&Hen

B: Emasculation
21,600T LDV LT &6V

C: Clone
&Germeor

D: Pure line
snw euidl

Correct Alternative :- A

85 According to geological time scale, the early gymnosperms should have originated during the period of :
LieNulwe &mevs &6oord &L 1q60TLIL., (LN6TG60TTLY 831D G6oTMeN QLT NG 6T G medT WIS M8
&HHSLILBILD HTevCelUemar :
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A: Lower Carboniferous

GLp &y Cumenf] QL6
B: Middle Devonian

eMLOW 6L @6 6ot eor
C: Lower Triastic

GLD 19 TWITH &5
D: Upper Cretaceous

GLev KFICLF w6y

Correct Alternative :- A

86 The type of vegetation characteristic to the Jurassic period of Mesozoic era is :
NCFTCTUWIS F&MLISEH T SZOTTHISH SHmevCalemeTuiley @@hHS &eofld AmLILS STelTs
QFTGSH :

A: Pteridophytes and Lyopods
QLIIGLT emUL_(h&6T LnMMILD 6060ECWIT GLITL 86T
B: Gymnosperms
31D CeoT TN QLT LD& 6T
C: Rhynia Vegetation
el WM SMTaUTS QHTES
D: Marine algae
&HL6V 3L6V&THHSH6IT
Correct Alternative :- B

87 Statement (a) : The salinity of the ocean increases appreciably from geological epoch to epoch.
Statement (b) : The salinity of the ocean decreases appreciably from geological epoch to epoch.

FaMml (a) : eluwiev &mev F&HMLISSH 6V et BHSH ABHSH FEHMTLISEHH6V &L_60160T 2 UL
FH6ool | FLOMTEH 3B & SHH S

Famml (b) : LeNulwev &mev F&HMLISEH 60 Tl mhS SHE5S FHTLISEH 6V &L696T 2 6UFLiL]
FH6001 | FLOMTEH GHMMHSHS.

A: Both the statements are true
@ 76T (R FaMMIGEHLD FflWlmeoTemel
B: Statement (a) only is true

FaMml (a) DL (D Fiflwmeors
C: Statement (b) only is true

FaHm (b) LB Fiflumers

D: Both the statements are false

Page 34 of 58


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2477

TEACHERS RECRUITMENT BOARD
Post Graduate Assistants 2018-2019
Subject — Botany
Question Paper — Tentative key
Date of Exam —27.09.2019 & Session - AN

@\ 7600T(h) S MMIGEHLD &6UMITEOT60)6)

Correct Alternative :- B

88 Evidence of the length of geologic time comes from :

QB MLEINUI BTEVE &HeoOTEHHL QMG WSTILOTE @HLILIS :

A: sedimentation, saltiness of the ocean and environmental change
LO60OT LILQLOLD, &6V 2_aIFLIL] LDMMILD & MMIF @ L6V LmmiLim(h)
B: sedimentation, environmental change and the disintegration rate of Uranium
LO60OT LILGLOLD, &MMIF @06V LnmmiLIm() Wmmid wCrenfluugs & et Hens e al& &0
C: sedimentation, saltiness of the ocean and the disintegration rate of Uranium
LD6oOT LILG LOLD, L6V 2 auFLiL nmoid W Gresflws & et Flems e all&H &0
D: environmental change, saltiness of the ocean and the disintegration rate of Uranium
FMHMIEF G660 WTIUTH, HL6V 2 Ll Mo uGreflwsH e Flenge| & LD

Correct Alternative :- C

89 The first artificial cloning vector developed in 1977 :
1977 -6V (P& 69160 BHTMHMINIGSHLILIL L Q&EWMeN & G6Tmeol Ml QeUssLITH :

A: pBR 322
pBR 322
B: pSC 102
pSC 102
C: pRP4
pRP 4
D: ColE 1
ColE 1

Correct Alternative :- A

90 Select the wrongly matched pair :
HUMTEH QUTIHSSLILILL G emeorenlsd CHIHOSHH H&HALD :

A: Aerobacter aerogens - Siderophores
T CITITLITS L [T 6T GTITGIE60T6IV - 600 & L_GIFITGLIITITen
B: Pseudomonas GRC, - Necrotrophic effect
& GLITGLoméoTerV GRC; - 5& 6 ellemerey
C: Trichoderma Viride - Cell wall lysing enzymes
L 6 CHITGILFLor eilplg - QFevaeuy APILIL QBTH

D: Fusarium oxysporum - Chelating agent
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Nwemflun op86erfervGUMILD - &Jevolulme: &

Correct Alternative :- D

91 The method for DNA sequencing that utilises single stranded DNA as template is known as :
@menm @60 DNA —allemet 955 M56 Q&meor(h DNA auflenFLiLI(hSSILD (Wnemm @ elalTmms
AMPHELILUQSH S :

A: Sanger and Coulson Method

FMMBIGT LDMHMILD &TLF60T (LD6DM
B: Maxam and Gilbert Method

LOT&HELD LDMMILD SevLITL (pemm
C: Robert and Holley Method

JTUTL LDMMILD e@mimevedl (Lnemm
D: None of these

GLM & 600t L g SILAl6LEM6V

Correct Alternative :- A

92 The most important Indian fossil of cycads is :

& & H &erfler LIS LNE&SRUWLDTET @HH WS G185 TELELITHET &ITEUTLD :

A: Lepidodendron vasculare
QeVLINGL TG L600TL_[JITEOT 6UITEN &6V
B: Protopteridium

LErmGLm@Lfliquih

C: Williamsonia sewardiana

a16LESWILD B & meof W T GG TIT LY UL 60T IT

D: Asteroxylon mackiei
6NV G ITen FevITesT GLN&: &

Correct Alternative :- C

93 Somatic Hybridisation is achieved through :
2 Levd &HevliL] @56 epeuld QUMUILBSR M

A: Grafting

L (HCUTh &6V
B: Protoplast fusion

LML L6 s @)emevorey
C: Gene transfer

85607 LOMMMLD
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Recombinant DNA technology
1 .6T60T.6J LDM)I @)6m600T6) Q&M MEIL LD

Correct Alternative :- B

GET IT ON
Google Play

Depending upon the area under occupation of a species and its ecotypes plants are designated as :

e(h FHleoTld &R TS SI6TET LGS LDMMILD 35607 &P eUendemn Ul (FEG&HTemL L)

QUIMTHS S SHMTEUTMHIGET @ 6UeUTm GLIWT QLM MIGTETET

A:

D:

Wides

LIJ6U6VTE0TEm 6L
Endemics

Bl6v 5 &) 60607 (5.5 60 6
Extent

LOIUITO6Y GUITLDLIGE6U
Wides and Endemics

LIT6U6VITEOTem 6 LM MILD [B16V 855 60)60T [H & 606U

Correct Alternative :- D

Raphano brassicais an example for :

gUMCeorT LNTTH&IT 6T6OT LIS @) &H60T 2_&ITIF600TLD

A:

Intergeneric hybridization

G 60T I & ©5 & 5 600 LU 6VITEOT &H6VLIL|

. Interspecific hybridization

&) 1D )] 60T 615 615 & &3l 6 LUl 6V IT60T 56V L 1L |
Intrageneric hybridization
GUIf60T 15185 @5 85 (& 6T 856V LI

Intervarietal hybridization

GeumILIL L () 60T I8 658 5 60y LU 6VIT6oT S56VL 1L

Correct Alternative :- A

The possible advantage of using Ri-plasmid of Agrobacterium rhizogenes in the production of secondary root systems for

interaction with soil-borne mycorrhizal fungi was reported by :

& GIITLIT& IR NI 6T CFTeS6orerv Ri—6oT Lilemmenudlem L LIUedT (&S @) JevoTLITLD [Bl60)16V
GaUISOHTGHD&6T ¢ MHLIHSSI6UH60T LNV BleVSH 6V &mevor ILI(HID GeUlJ aUMLD Li6H6eM & &H6iT
leuMMIL 60T CLOMQSTETEHLD Q&ML ITLIN60T & MTE S UILDITE0T [H60T60) L0860 6ITE & 600T L MIHSH 6T :

A: Moore et.al., 1979

B:

eI 6TL..9L6V., 1979
Smith and Walker, 1981
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el LDMHMID UME ST, 1981
C: Bernard and Helinski, 1980

QUIeTTIL LoMMILD GQlamedlesreny &, 1980
D: Messing et.al., 1983

QLeVeSImI 6TL..94,6V., 1983

Correct Alternative :- B

97 Which of the following is not an example for complete ecosystem ?
G LD 558 600T L6 M MIGIT (LN (LDEMLOUIITE0T (F5LDIB16m6V LD600TL_ V& F 60T 6T(NSSISHHTL_(H VVTH S TSI ?

A: Desert
LIT60)6V6U 60T LD
B: Deep Sea
QLD L_6V
C: A Tree
LOJLD
D: Lake

el

Correct Alternative :- B

98 Of the three major geological eras, coenozoic era began about :

eLNETM (LNEH U QS5 MeLeSlUIWL F&HMLISMIG6T 6, FGarmTCRTUIES FaMLISLI CHTerMUIg &IDMTTS

A: 70 million years ago

70 L0l 6LES LLIEBT 6U(H LIS E1H & & (LN6DTL
B: 200 million years ago

200 LO16LESIWLIEOT 6)(HL_MI&H EH & & (LNEDTL
C: 500 million years ago

500 LO16LEOILLIGDT 6U(HL_MIS 65 & (LNEDTL
D: 2000 million years ago

2000 LS16LESILLIGDT 6 (HL_MBIS EHE & (LD6OTL]

Correct Alternative :- A

99 Aegle marmelos is an example for :

g&H 6T LMILIIGeVTeN @) &60T 2_&ITJe0or LDMEGLD :

A: Endemic species
Blevs Gl enet b FlHmleorid
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Continuous distribution
QSTLIF&F WITeT LIF6eU6V
Discontinuous distribution
QSTLIFR W MM LITeU6V
Halobiotic

GammGeuIT LIWITLY &

Correct Alternative :- A

Find the odd one out with regard to mechanism of Bio-control :

o Wiflwev s GiLum® &Ml&s QUIMTIHHSTHMSHE & 60T L MILILD :

A

Amensalism

SILDETEF MR &FLD

Mycoparasitism

MNECHTUMTITENELIQFLD LLEHeNE 6L (h 600T6001]
Nematophagy

QBLCLMTCUS (BTMHL|(LD 2_600T600T6V)

Mycophagy

MLDCEHCLIG) (L, (65 60) & UL 600T600T6V)

Correct Alternative :- A

Match the bio-fertilizer with their beneficiary crops :

(a) Rhizobium (i) sugarcane
(b) Azotfo bacter (i) Soybean
(C) Azospirllum (iii) Paddy

(d) Cyanobacteria (iv) Cotton

A:

B:

2 UM 2 [RI&EHL 60T SeUMHMTEL LILIETCILMILD LUIFSHenan CIUM(E S &5 :
(@) s GCEMLINLILD (i) & (I, LDLY

(b) FCLm CuUELfleL (i)  Gemumsor

() SIGFmarvsmUIfleLEVLD (iii)  GlBeL

(d) eFWGermumsleflum  (iv) UGHSS

(a)-(i1), (b)-(iv), (¢)-(1), (d)-(iii)
(a)-(ii), (b)-(iv), (¢)-(1), (d)-(iii)
(a)-(ii), (b)-(iii), (¢)-(iv), (d)-(1)
(a)-(i1), (b)-(iii), (¢)-(iv), (d)-(1)
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C: (a)-(ib), (b)-(iv), (¢)-(iii), (d)-(1)
(a)-(i1), (b)-(iv), (c)-(iii), (d)-(1)
D: (a)-(ii), (b)-(1), (¢)-(iv), (d)-(iii)
(a)-(ii), (b)-(1), (¢)-(iv), (d)-(iii)

Correct Alternative :- A

102 Genetically different groups of populations adjusted to certain ecological conditions are called :
Flev GMILLILL @LOBIemeVsHEH&H G @&5SILIGLIMeT FLINluley CoumiLil L @)60T&Hsnl L & (WD&HE6T
@ 6UeUTMI 6MLNE S LILI(H 6T 60T :

A: Ecodemes

T &G TR DG 6T
B: Ecotypes

T8 G & M0 L LI 6T
C: Ecophenes

T & G & ITLIeoT S 61T
D: Ecotomes

F&G&HMGLITLD& 6T

Correct Alternative :- B

103
Match the following :
(a) B.P. Paul (i) Rice Breeding
(b) Pushkarnath (if) Sugarcane Breeding
(C) Venkataraman (iii) Wheat Breeding
(d) K. Ramiah (iv) Potato Breeding
B & &L eumenm QUT(LS SIS :
(a) B.P.umev (i) GImeL
(b)  UGQ&IHTE i) &Y

(c) CleumsLpgmer (i) GCoHTH6MLD
(d) K. gmemLouwm (iv) 2 (BEOeMSSIDMIG

Ar (a)-(ii), (b)-(1), (©)-(iv), (d)-(iii)
(a)-(i1), (b)-(1), (¢)-(iv), (d)-(iii)
B: (a)-(iv), (b)-(iii), (¢)-(1), (d)-(ii)
(@)-(iv), (b)-(iii), (¢)-(1), (d)-(ii)
C: (a)-(ib), (b)-(iv), (¢)-(D), (d)-(iii)
(a)-(i1), (b)-(iv), (¢)-(1), (d)-(iii)
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D: (a)-(iid), (b)-(iv), (¢)-(i1), (d)-(1)
(a)-(iii), (b)-(iv), (¢)-(ii), (d)-(1)
Correct Alternative :- D

104 Which of the following statements is not true ?
BN G 8600TL G MM G616V 6TS1 F 1 WLITEOTSH 606V ?

A: Protozoa and Mycoplasma are also known to kill the insect pests.

LETmLGLmB&FmaUT LoMMILD eMNGSHITLI6TTEVLDIT & Wemeuu]Ld LLEF Smi@Guilifleemner
Q& meLaYILD 6TeoT &MWL ILI(H 8 6T 60T

B: The toxin secreted by Bacillus thuringiensis is not toxic to the larvae of Lepidoptera.
LIT&6VeVEIV ST 160TGlE260T Flar & 78 G D h&ES QeI ML T (WLl L|(DE&5H6EHE G
15 6hH & IT6U &) 6L 60Y6V
C: Viral pesticides after application get entered into the mouth and digestive tract of insect pests and kill them.
MEUTEN LLEF & Q& MeLeN&H6T Qg erflaas Ll L LTl 2 600r6)] G &FfInmeorLl LIMem& LM MILD 6Tl
AH WM DI6T HleMLOH S SeUMemME G & mev 5 60T M 60T.
D: The microbial insecticides are non-phytotoxic
mlevoreaI U LLFF & QEMeLeI&6T HMalTs SmhigsmHmenal

Correct Alternative :- B

105 Which of these is a basic Amino acid ?

(a) Lysine

(b) Arginine

(c) Histidine

(d) Tyrosine

@eummlev 6181 &MY | LAGeoTT IjLdlevld ?
(a) 60Y6VG 60T

(b) @b Tellemenreir

(c) amlerLg Le6oT

(d) &I MG 60T

A: (a)and (b) only
() DOIILD (b) LDL({BID
B: (b) and (c) only
(b) DOMID (¢) LDEEID
C: (a), (b) and (c) only
(a), (b) LOOOILD () LOLEBILD
D: (d) only
(d) (LD

Correct Alternative :- C
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106 The type of vegetation characteristic to the silurian period of paleozoic era is :
LmeSGW GRS FaTLISES S 60T Flaurifluler &meuGeusmeTuiley &meoor LI L Seofl&F UL SMTeUTs
QHTES&H :

A: Pteridophytes
QLIIGLIT eIl (D &6iT
B: Gymnosperms
31D CeoT TN QLT LD 6T
C: Rhynia Vegetation
el IWIT HMaUTS QHTGSGH
D: Marine algae
&HL6V 3LV THSH6T
Correct Alternative :- A

107 With regard to Carbohydrates which of the statements is true ?

(a) Arabinose is a pentose sugar

(b) Inulin is a storage polysaccharide
(c) Sucrose is a reducing sugar

(d) Raffinose is a trisaccharide

SMyeumemamLl Crl (M asemeTll Limm LleTeu Bl Fommisserflev Fiflwmerenel eTenel ?

(a) ST TLIGEOTITEN 62(H Q LIGHT GLIT6IV FJ&&H 60T
(b) @ era6d6tT 2 CFLALIL] STTEUMemaML CIL Q@& LD
(c) &&HBIMeN 62(H R(HSHGLD FIEHHEN T b G&LD
(d) T LNGeoTmen (H (LNLDEMLD FH&H M @& LD
A: (a)only

(a) L (LD
B: (a), (b) and (d) only

(a), (b) LOODILD (d) LOL(HILD
C: (c)only

(c) L (LD
D: (c) and (d) only

(c) LoOMILD (d) LOLGID

Correct Alternative :- B

108 Haploid Cultures are useful in :

@HLOW Q6T LI &6 @&ME& L LIuledTLI(H S 60T 60T :

A: Direct screening of recessive mutation

(O\EIG SeoTemln FHIH) IDTMHMEHMS GBI UITES GFmgHemeorudlL
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B: Development of homozygous lines
GamTGLF&H 6 albl&HemeT GLM S S
C: Androgenesis
21,60TL_ G MR enf1&Flerv
D: All of these
GLM&H600TL. 3|6D)60TS SN

Correct Alternative :- D

109 In a food chain the amount of energy transferred from one trophic level to another is :
6(IH 2_6o0Te) & FRIFe0lullev eI 2 6voTey,l L Blemevuiley @ HHS! LDMGMITIH 2_600TeW L L Ble06VE S
&HLSSLILIGILD MmedeT 366

A: 5%
5%
B: 10%
10%
C: 15%
15%
D: 20%
20%

Correct Alternative :- B

110 Sphenophyllum, a herbaceous creeping plant, had existed during :
LULT Q&F198 SmeuyLnmer enLiGeor mLIsveVLD 6UTLDIHSS SITeVLDTE &60oTd KL LILI(H U

A: Upper Carboniferous period
GLo6v SITFEUITETIQLIT6N 8mevBeUemerT
B: Triassic period
Q6 TWTH & FHmevCeuemer
C: Lower Devonian period
GLD 19 Ceurmenf1WI6T &TeVGaUEm 6T
D: Middle Devonian period

emLOWI 19 Geumenflul6dT &mevEeuem 6T

Correct Alternative :- A

111 One of the corporations in Tamil Nadu is .

SLOILDIBITL LG 8VI6IT6T LOMBSITTL & & 6160 6ot
A: Kanyakumari
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&HeoTeof W M@ i

B: Ariyalur
Sflwery

C: Tirupur
HeULT

D: Virudhunagar
DNIGENuE:)

Correct Alternative :- B

112 Soil resource is preserved by using :

LO6OOT GU6TSHEMES LIMSISHTEGLD ULl :

A: Natural Manure
@UIM6eN& 2 LD
B: Artificial Manure
QFWMeNs 2_[JLD
C: Deforestation
LOFTLD Qeul_(h &6V
D: Grazing
GLWIFF6V

Correct Alternative :- D

113 In what process, Naphthalene is purified ?
BTLIS 656060 6THG (LeMmMUIEL STUIemLD Q& UIWIGVITLD ?

A: Fractional crystallisation
L9 60T60T LILQ.85 L0 M8 856V

B: Simple distillation
ereflll STUIESR 611 556V

C: Sublimation
L& MG LO M6V

D: None of these
@ 6UMMIGT 6116 LOl6L 66V

Correct Alternative :- C
114 A bar magnet is whirled in a mixture of copper and gold dust. We observe that :

@ FLL &MTHSESHemer STAFLD IDMHMID HHISHES S&H6T Hevenaluiley spmmild GLIMS! BITLD
8600T(H 600T T QU S :
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Copper and gold dust are attracted by the bar magnet
FHevem el uilev 2 6Tem ST IDMHMID HHISS SGH6TH6T FLL &MTHEHEH T HeuFLiLUGSHma
Both copper and gold dust are not attracted by the bar magnet

FHevemeUUWilev 2_aTem ST LDMHMILD HHISSH SGH6TH6T FL_L &MTHEHEH 60160 &HeuJLIL{b eU
@) 6VL6DI6V

: Gold dust is attracted by the bar magnet

FHVEM6UUWIN6L 2 6T HBIGE SIG6TH6T DL HICL FLL &MHEHEH TTe0 SHeuFLLG&H ma)

: Copper dust is attracted by the bar magnet

FHevemeauuwilev 2_aTem HTINTS S&H6eTH6T L HCW FLL STHESSH 60T Tev HaUgLliLBHms!

Correct Alternative :- B

Generally plants need nitrogen from soil to make

QUITSIEUTS SHIMTEUMIEHET 6T6eMSH 2_(HeUTEHSH LDGOZYI’GZYOﬂGU @ (BHS MBHL_TR606T 6T(HNHSHIEHC&HTATR M :

A

Protein

LIT&LD
Fat

Q& mIpLIL
Carbohydrate

STFGUIT emamL_GrL.

: Vitamin

emeUL_L Lol eoT

Correct Alternative :- A

In which year Swami Vivekananda delivered his special speech at world religious conference in Chicago ?

FHHTCHTA HMLQLIMHM 6060 SI608 FLOW IDTHITL1960 6CaU&ETeTHST FMLUILINT 2bmHnlul
GU(BLLD :

A:

1895
1895
1894
1894
1883
1883
1893
1893

Correct Alternative :- D

was called as the 'Hero of Arcot'.
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‘aMSTL(H T eTedTMemMLPE S LI LA

A: Dupleix

B:

C:

GLUGerr
Mohamud Ali

W& G 360
Chanda Sahib

FHST FTHILI

D: Robert Clive

@UTUrL Semerel

Correct Alternative :- D

Which of the following play a significant role in acid rain ?

|6V e QUTElISME (&SR W SHTFentl&Herms GCL STLILIL (heTemaummley 2 sTamenel WIMS! ?

A:

Carbon monoxide and Carbondioxide

&M LI6T GLomeoTm&emen)(h LDMMILD &IT LIGT—60 L — b8 606V (h)

. Ozone and Carbon dioxide

6@ & M60T LOMMILD SITITLIGT-60)L_— 24,8606V (h)
Nitrogen and Oxygen

6MIBL_[F260T LDMMILD 8 endlegeor

Nitrous oxide and Sulphur dioxide

OBL_TEN 8606N () LDMMILD FeVLIT—60 L — 34860610 (h)

Correct Alternative :- D

According to direct democratic system of government :

GBI D& SHETTLE e mMUI6VTET TEFMHISHEFH 6V :

A

D:

All government officials are appointed by the Parliament

ITEFMMHISH SVEUVTEHET 3|6M6TaUHLD LIMTTEH LD6dTME STV BIWLNSELILG SmTIsser

: People appoint the government servants

D& 86T I8 LieoofWMF&HemeT BIWLSRmTT &6t

People take part in the administration of the country

STEFMMHIG BFUTHEH 6V D& 56T GBS LIBICHEDHBMITT &6t
People directly elect their President

GLUWTHFS Hemnevall D&HE6TTeV CHTILWTES CHIHOSMH&SLILUGSRmTH

Correct Alternative :- C

The Highest court in England :

Page 46 of 58


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2477

TEACHERS RECRUITMENT BOARD
Post Graduate Assistants 2018-2019
Subject — Botany
Question Paper — Tentative key
Date of Exam —27.09.2019 & Session - AN

@RISR THEH L WHe|0D 2 WFBlenev HH WD6TMLD :

A: Supreme Court
FUF CGamyL
B: High Court
2 WFBGHILN6eTMLD
C: Privy Council
LNfed ss6yeT&lev
D: House of Lords
oy & 86T FemL

Correct Alternative :- D

121 The Mahatma Gandhi community colleges have been opened in Tamil Nadu in which among the following ?

L edTeu LD 6TH S 60T Ml60T 19 LILIemL_ U6 SLALDBITL I 6V LD&HTSINT STHSE) FeN S
S fleermers HMmesLILULL S

A: District with low education ratio
GMbHS Hevell GG Q& MevorL LOMeUL_L LD
B: Educationally backward districts with low income
GMIHS QUHLOMETLD Q& mevorL Sevalluilev L6oT& MBI W LOMeUL L 618 6T
C: Districts with more SC and ST Population
SC L0MHMILD ST @\THSEUT 2H & 6TevoTE001 18 6m85 U6V 2_6T6T N6 L L_MBIg 6T
D: Prisons, for imparting vocational training
FeOMEFFTEN6L &H6iT, ASTLEIM LWIHEF e QMG USMH&HTSH

Correct Alternative :- D

122 Identify the need that Ashok will get in his ambition of becoming a class representative.

UG LIL SHemeueu e Geuetor(hLD 6TERILD @) 6VEHENE 36M LU CLIMSH CFTE SH60TeRl6enL U 6THS
GHemalemnl LLJS S Q& UG edTmmedr ?

A: Aggression
el HMé &S0
B: Achievement
S{6e0)L_6Y
C: Maternal
ST
D: Social approval
FeNS @LILSH6V
Correct Alternative :- B
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We forget the things we do not want to remember by burying them in our unconsciousness is called forgetting.
BITLD Blemerallel emeus s Q& meTer all(HLOLMSE ellaq UIBI&G 6T MBS L THISH6T 3jeUumenm
& Wbleneoralley em6USH SIS Q& MeTEHLD CGLIMS! MBS NHSHMmS!.
A: Morbid
ACITE&HWIDMHM
B: Refined
FruOSSILLL
C: Inference

3| 60 LOT60T
D: Purposeful

GSMIHCHTET 2_6mL_UI

Correct Alternative :- A

Of the first seven gifts called by Froebel's name, consists of a big wooden cube, divided into eight smaller equal
cubes.
SUGTMRLIeV6eS 6T QU6 S160W0&HELIGLMID (S6V ¢ LUF&L QUL &erfley 0

QUIflW oY &eoT FSITLD LDMMID 3181 6T () FmI SlevoT(h&H6Tme LNfleHaLILIL L &60T &SI IS 6e06TE
Q& ITEOTL_Sl.
A: Gift7
uiflar 7
B: Gift3
uifle 3
C: Giftl
uiflar 1
D: Gift2
Uifler 2
Correct Alternative :- B

model is intended to increase efficiency of information processing capacities to meaningfully absorb and relate
bodies of knowledge.

LTS 1 UTeoT 586160 G1& WLV 60)16V8 S 60Tem LD H) M 6T M6 GILIMIHL_LIL 2_600T &6V L0 MHMILD
Me& Ty Blenevserler QFweuH menerr CLWMLUMSSIWD LTHFwms elleThGHR M.
A: Concept attainment

&HHSH G ML 6V

B: Inquiry training

alleTeusy LUIMHE
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C: Inductive thinking
2 WG SN Fb&emeor

D: Advance organizer
GLOLL L e(BMhI&GemLOLIL]

Correct Alternative :- D

126 mechanism is the exclusion from consciousness of anxiety-producing memories, thoughts or impulses.

BLSMS WM LISMHME60SH 2 (H6UTH LD [H60)60T6) &5 61T, 6T600T600T 1S 61T 6LV G
SITE00TL_6V86M 6T &60TSI L060TSHH 0 (hHS! 58 @D QIFWLIELLITLITGLD.

A: Regression
Ledreoteny el & & LD
B: Aggression
HHMBIGCSHTL 2_600T[J6Y
C: Repression
3L &G el emeor
D: Fear reduction
LIWILD &6mMmLIL]

Correct Alternative :- C

127 An individual responds to a new situation on the basis of the responses made by him in similar situations in the past due to the

law of
6T6OTM &FL_L & B 60T &ITFeooronss e GMILILIL L 2 uilifl &L &mevsH eV ML &S W
Sl6VmIG6T CLMeTCM LH W @GLoblemnsuuiaiin 988 mH flulmesr SievmigsHemev DHLIBS SIS LG LD.
A: varied reactions
LIeLCeum) 6TH T alemeor
B: attitude

LO 60T LI LI TE0T60LO

C: analogy
6L lL|6mLD

D: associative shifting
©)60)600T LIL| LOTMHMLD

Correct Alternative :- C

128 'Compulsory Mis-education' is the work of

‘SLLTW Wenmuileveurss s606l” 6T60TM HIT6M6V 6T WIGUTT
A: John Holt
SOT60T QUDITEVL_
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B: Charles Silberman
FTI6V6N Fl6LE LG LD 6OT
C: Paul Goodman
LIM6V &L_G\LD60T
D: Ivan Illich
@)6umedT @) 6Ved&
Correct Alternative :- C

129 NCERT has been publishing a half-yearly research journal titled since

NCERT SeneuLiLlevflev 21,600T(H) (NG 6EVITE &(IH 60T WIT60T () 34,16 & Lol 6y 60T
Nrsflea&msa.

A: Indian Educational Review, 1967
@S W sGevall LDMIFTTUIE, 1967
B: Pre-Primary Teacher, 1986
(D6T QB TLHSH A Fluir, 1986
C: Resonance, 1992
FG&FMQBeoTEN, 1992
D: Education, Research and Training, 2002
&eval, 9pUle] LnMmmMID LIULSIHE) 2002

Correct Alternative :- A

130 In classical conditioning the process by which an organism learns to respond to stimuli similar but not identical to the training

stimulus is

55 Bl mISsHs CaMLLML 1960 @ 2 Wlflumerg LIUIME) STeooTL Vs @ 55 2b,60TTeV G
LTHFWLTSH 36V6VTSH HeVHEIG6T QeaueflliLI(h &SI QFUIEVLITLTETS

A: Stimulus generalization
SIT600TL_6V QLIMGlenLo LT
B: Spontaneous recovery
o L 60T 66y
C: Extinction of conditioning
&G BlVWINISSID PHS CLIMS6
D: Stimulus discrimination
&ITevor L6V GeumimQ)

Correct Alternative :- A

131 When the emotions develop under supervision, children learn to respond with behaviour that is accepted by the group. This can
be classified as in the role of learning in children's emotions.
GMHUTTemeuUI 6T HLD LT 6UWEDR au6TIen g U6V & (WD6UTEITS! 6FM & LD 61600T600T LD (& LOIH60) & 8561
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LSeverfle @D BL &6 & UNemeoT &M Mg Gl& TS 6TMEIT. ©)86M60T (&5L0IH 60 S 86rT160T LD6oTGl U (W& &
&HMHMeSlev 6T60T GUEM & LILI(H &G 6VITLD.

A: Learning by Trial and Error
(LLUWIEOTMI SEUM6V CLNEVLD &MM6V
B: Conditioning
3,55 Blenevulmis g0
C: Learning by Imitation
LUMTISSIL LIeTLIMMeEL eLneuld &mmev
D: Training
LWlm&

Correct Alternative :- D

According to Bruner, the specific quality of a concept that differentiates it from other concept can be defined as :

L Ceoredl6dT GmMMILILIL, LDMM &HSSISH6Te0mbE CoumiLil (H &mesorLILIBW0 e SN L
LI600T60)LI 6TIH& GUTT&H 608 68 Meoor(h 6U6M [T UM &H6VITLD ?

A: abstract
F(HSH&HID
B: attribute
L1600T L]
C: concrete
2 M)
D: experience
9| &) LGB G 6T
Correct Alternative :- B

At this stage of Erikson's psycho-social development, children begin to identify with the appropriate adult and to model, or
copy, aspects of the adult's behaviour :

6Tifl& & 60fl6dT 2_emgaelns GODLIML Y60 @HS Blemeuulenflel GLOHem & &6 G LIMIHE S LOT6oT
(WG CUITTSHEBHL 6T H6T6060T AemLWITTL LI &SH S Q& TETEHLN VeV QUGS HL &6 Lileor
IhamIEameT LNT&H Leds@LD.

A: Initiative Vs Guilt

FW(LPEMEOTLIL| Vs. MM 2_600T 6
B: Mastery Vs Inferiority

GHTEDF Vs. HITLH6) LD6OTLILITEIT60L0
C: Autonomy Vs Shame

560T60 W& 851D Vs. 3J6ULDITE0TLD
D: Identity Vs Diffusion
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Seofl G glalln Vs. F1&mig 60

Correct Alternative :- A

Which one of the following describes best the meaning of 'Nirvana' ?
L9 6076 (I 61 60T6U D MIGIT 6T B [TEUT60T LD’ 6T60T LIS 60T QUM [HemeT FImLiLITs elleuifl&&Rma 2

A: Freedom from the 'self
SWSH O ®Ha el S6m60
B: Freedom from Worldly life
2 & almpelleSlpBHE all(h & emev
C: Freedom from the cycle of rebirth
LoINOLL &PHFUTGHa ellhgene
D: Freedom from consciousness
georenieoor jailedl (b S 6l (h S emev
Correct Alternative :- C

The pedagogy that operates at the level of self regulating individual micro and macro systems such as teaching machines and
institutions is

asﬁmﬂg’r;g,ebM@aseﬁ LM MILD B M6 60T MG 6T GLIMedT M &6ofl LI L Hl6vor LoMMID GILIHLD
F LR (DMBIG (LNEMM Blemevaerley @ UIMI&HEFnlq Ul &MLINE S (Wemmudlemeor 6TEOT6VITLD.
A: Programmed instruction

S LIALL &smLS 560
B: Synergism

Feriedleuld
C: Operant conditioning

SMmANFTT 966 blensvwilmigsn
D: Cybernetics

& LT HLY.8 61

Correct Alternative :- D

divides school into two groups A and B, In this A received instruction on 3R's and B studied arts, games and other

areas like gym and artroom.

wenm LeTerflullemen A LDMHMILD B 6T60T @\ (H GH(LDESHEMTS QG QFWLBSSID, @F6L A

Gweurmersl 3R &mhHs LWnHFullensor QUMD LDMMIWD B & W &enev, ellemerwlml_(h), 2 LmuUulHe

LMD SemevLl LW HE ullemeor LiulswiLD.

A: Laboratory School
pUleuss Lieerf]

B: Montessori Schooling System
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L0 meoorlq. @& mifl LieiTerfl oyeminliL]
C: Deschooling System

LieTerfl ojemnLiLNeveum (emm
D: Platoon System

L16m(Be0T (LD6mm

Correct Alternative :- D

Which one of the following is considered to be the basis for imagining, creating, associating meanings and reasoning ?
L) 63T 60 (TH 61 60T6U M MIGT 6TIHS 6R60TMITEOTSI SMLIGNEOT Q& I, 2_(HEUTESH, GILITHET &) 60)600TE 556V
LOMMILD SITF6e0T QFWVLTH&HEHEH G 319 LML WTES &HSLUILOGSH S ?

A: Animism
91,60TLN & & 60T60) L0
B: Maturation
WHTFE
C: Interest
aJeuLd
D: Memory
[blemenre)
Correct Alternative :- D

There will be a great sense of difficulty in maintaining posture, walking, climbing and in controlling voluntary movements such
as reaching, grasping and manipulating, without

BIHM6V, BLESH, MIS6V LDMMILD 566rarﬂa:6m5= B&T6&H6T &L (LU SSID G&FWevLIT(H &6 meor
BFI5H 56, CF&H15560 LDMHMILD 6008 WITEHSH60 GLIMETM Q& UI6LLIT(H 86T @) 6VELITLDEY
&H1Q60TLOMEOTH TSH Q6MLOU]LD.

A: Visceral responses
9 GTEBMILILIFT SI6VMHIG 60860
B: Apparent motion
GxTMM @UISHSHLD
C: Assertiveness training
60T (Lpemeot LI LulmE)
D: Kinesthesis
SMNEHFF U6V @ UISHSHLD

Correct Alternative :- D

In type of concept, attributes and values are substituted for one another. For example, if we say 'two figures or two
circles', in this the attributes are form and number but the value of the number remains the same.
QbS5 QUENG & (HSF 60116V LI600TL| &6 LOMMILD DG IL&H6T et CmMQLMeTm InmmHni(h Q&FuIg!
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Q&MeTEBLD. 6T(HNSHHIHETLLITSH ‘@) (H 6ULL.6UMBIHE6T 6V6VE @) 6UL_LBIGE6T 6T6vl16V @) &6V LievorL|&H 6T
2 (HEULDMTEHELD LDMHMILD 6TE00TEETMTEH LD 3{6MLDULD. 60TV LDGHLIL|S6T 6T600T&H TS 0L (HIGLD
LOMTMTH ([H&GSLD.

A: Relational Concept

QaMTLILmL W &([HSH S

B: Conjunctive Concept
QTS HMHSS!
C: Disjunctive Concept
16L& & Blen6L &([HS S
D: Void Concept
QaDHYIE HHSS!

Correct Alternative :- C

The report of the National Commission on Teachers-I was entitled as,

CaHAW A FIWT GUWLWOWD — 1 9156 3IM & 608 Ullemeor 6T60T SemeVLILINL LS.

A: Teacher, Pupil and School
A FlWF, IDmeooTM& & LnMMILD LieiTer]
B: The Teacher and Society
A FlWF MM FensLn
C: 'The Teacher'
‘S Fflwg’
D: The Teacher and Nation Building
AR FlWF Hmih CHEE &L LennLIL|
Correct Alternative :- B

reinforcers differ considerably from the concept of punishment. Unlike punishment these are designed to
strengthen an escape response, not to inhibit an undesirable response.

GUEVIE, L 19.556T &600TL_60Y60T 6T60TM & (HSH 6O (BHS! (LLMMISINTE LDMMILIHG MSI. & 600TL_60)60T
GLIMEL BJ6VEVITLNEY @) eAUGET SLILNEG G SlVMmIgGHem6v LIVLILIHSSID ellFI0m&E e LD, GOyl
N (BLOLGS S ST SI6VHIFE6V &L &FWIWIT ell&L0MS 60D eIl elemLIN&G S LILL (6T

A: Positive
GBI M
B: Negative
A lalzol)
C: Neutral

BHDlevrsv

D: Zero
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LLE3Wl

Correct Alternative :- B

The DANIDA-TNAHCRP initiative of Tamil Nadu state is related to which among the following sectors ?

S0P &HE G 60 DANIDA - TNAHCP (neTQeot()LIL] L6t BLd Slienmsserflev 6Thg 6peTGmm(h
Q&I WS ?

A: Housing
i (QeusH

B: Health
G&MSTTLD

C: Education
&6V

D: Horticulture
CHMLLE&HM6V

Correct Alternative :- B

The 'Indian Council of Philosophical Research(ICPR)' was established in by the ministry of education, Govt. of
India.

@QBH W ATF 6T Hevall AMDFEFSHLD ‘@HH W HS5B6U T TULFF G WLDESF)6060T’ 24,6001 (h)
BloeNwigi.

A: 1962
1962
B: 1977
1977
C: 1985
1985
D: 1999
1999

Correct Alternative :- B

Akila generally appears sad, expresses in writing rather than speaking, is interested in reading of the following in which type
did J.C. Jung classify him ?

QUMTEIUMHC6 AHB VT LMIHS CFMHLINNMS @ (HEH MTET. GLFIMS Nl 6T(LDSIUH 6L & 60T60) 60T
QauaflliIL(B ST & Q&METEHLD (66T, UTFILILFHIEL LTI 2 _6TemeleT. J.C. 83l 6THS eUem s G
IQUMET QUM LIS SIQUT ?

A: Introvert intuitive type
2 GTCBITESR 2_6TEH60TT6Y 6165

B: Extrovert intuitive type
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2 6TGBITHG 2_600T[6) QUM
C: Introvert sensational type

QeueIBBITE: & 2_6iTEH6I0TI6Y 616N 8
D: Extrovert feeling type

QeueIGHITE: & 2_600T[T6) 6UEM &

Correct Alternative :- C

145 Which theory is popularly known as the Jukebox Theory ?
6THhS CHTLUMTMH 8208 LIM&en G ITLLMH eTeor LNFLeVMSHES &HSLUILUGSH mS ?

A: Schchter and singer theory of emotion
VEFLT & FIBIGT DTQaUWERNS CamLumb
B: Armnold's excitatory theory of emotion
S| JEOTITEVLY.60T 2_600THEFILI QILI([HES DTG 6U(WDER & Ca LMl
C: Maclean's theory of emotion
QLD E60WLI6HT LETQ U ER S CaHmL LM
D: Papez's theory of emotion
LmLiLfen werGel(W&ER & Ga LM

Correct Alternative :- A

146 'Sriniketan' is a constituent institution of VisvaBharti University, is an institute of

a6V EILITTS LIV eM6VEHEL0&HE H 60T 62(IH 2 MILIL| [HlMICIETLONS ¢ @95](3555@ QEwWeLIHRMSI,
@) 16 Bl m16) 60T LD 5] 016U 60T LD MG LD.

A: Teacher Training and Education
Ay LuIME LHmILD sevall
B: Languages
Qumdlser
C: Fine arts and crafts
Hl600T&H el 60TE6m6V LDMMILD 60856l 6t 60T
D: Rural reconstruction
S\ImOLILIM L6oTIemnLOLIL]
Correct Alternative :- D

147 Activities such as writing an essay, drawing a picture to depict the seasons of the year, constructing an exhibit for the school
science fair, represents

&L (6T TS5 6V, 61(HLMIS6N 60T LI[HeUMBI&G 6T F &6 @D 61600T600TLD LIL MIGH6T 6U6MISH6,
LeTerflullesr omlaluflev seoors MG & @& TS 1L QuUTherflener 2 (HeumsH a6y GLIMeTm
@ FQEWeLLITH&6T 60T GMIGHMSI.
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A: Application
L6t LU() & &1 &6V

B: Analysis
LU&SSHSTUIGH6V

C: Synthesis
QBTGHSHTUISHE

D: Evaluation
L& LILTL 6L

Correct Alternative :- C

148 In Froebel's Kindergarten, full freedom is given to the child to handle gifts, educational toys in the way he/she likes. Such
activities connected with these gifts are called

SLUCTTEILI6V6S60T §)6voTL[J& T L60T (LNemmMUIl6y, &LoHen & 86T eurserfler allmLUSH MG ML
UG QUTBL&6T, HevallF M GIUITDeNLN& 66T 6085 ULTEHISME (W FSHHH LD
oM &&ELUIURSHMmS. @FQ&FWwevLIT(H&HemeT 6TEOT6VITLD.

A: Occupations
LIeoofl(Lpemm Q& wevLIm(h)
B: Childs Play

GLpHems allemeTwmL(h
C: Engagement

Q&FWe6vBlemeuLll GLIME G
D: Life Work

QUMLDE 60 &L Li6oor]
Correct Alternative :- A

149 is also known as Adlerian Therapy.
ILQeuf Wy Q5L eTedTmild SemW&HELILIGSR M.

A: Individual Psychology
g eoflneofls 2 emadlulev
B: Client Centered Psychology

QUITLY 8600 & UIITETT 6mLOW 2_6Tedlliey

C: Behavioural Theory
BLEMS CHTLLIMT(H
D: Reality Therapy
2 _eooTemLD FIRFenaF

Correct Alternative :- A
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Education methodology modelled by Paulo Freire is

GET IT ON
Google Play

LTGeurT LiemTW [ eusermev DmMH Il 2 »BLQUMM Sevel (LnemmImeTs) .

A: Active learning method

QFWeLLTL(H SMHM6V (LM
B: Conscientization

o _TEFFTEOTMI [H60)6V 8 & 60T60IL0
C: Self-perpetuation

W Blemev LML ()& &eTemLn
D: Participation

LImIG& MMe6V

Correct Alternative :- B
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